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Y.re6Ha-r rrpolpaMMa cocraBrreHa Ha ocHoBe OCBO 7-07-0533-03-2023 or

A.0E.202_ u yre6Horo rrJraHa frpe)KAeHLIT Bbrcruero o6pa:oBaHlrr J,,lb 161-23/y.I.

or 07.04.2023 cneqlrarrbHocrrr 7-07-0533-03 Agepnat 14 paAr4arluoHH€ul

6esouacHocm

COCTABLITEJIb:
T. C. grarona, upoSeccop ra$e4prr o6ulefi r4 MeArrldllucrofi Su:uru yqpexqeHu,s
o6pa-:oeaHux <Mex4ynapo4nrrft roGyAapcrseHHsrfi 3KoJrorLrrrecrcnfi r4ncrl{Tyr

HMeHr4 A. A. Caxapoea>> EenopyccKoro rocyAapcrBeHHoro yHuBepcurera, AoKrop

Sra:aro-uareMarllqecKl/tx HayKr,{oIIeHT

PEKOMEHIIOBAHA K YTBEPX,EHI4IO :
Ka$eapofi o6qefi kr MeAurlrrHcrofi Qzszxz fIpelKAeHLIf, o6pa^:onanrEx

<<Mex4yuapo4Hufi rocyAapcreeHHrrfi 3KoJlorl4rlecrufi I4Hcrlaryr I{M. A. A.
Caxapona> EenopyccKoro rocyAapcrBeHHoro yHuBepcl{rera (npororon

J\b l0 or /,! //n^./ 2023);

CoBerou $ar<ynrrera MoHr4ropr{Hra oKpyxarcrqefi cpe4br yqpexqqeHl,Is o6pa:onauur

<<Mex4yuapo4uufi rocyAapcreeHHrrfi oKoJrorl4qecrufi uHcrtlTyr lIM.

A. A. Caxapona> Ee.uopyccKoro rocyAapcrBeHHoro yHl4Bepcllrera (uporoxon

Ng // or // taaru( 2023)
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D<7<>5 / �. �. �D>L<=, �. �.%<4>D>6. 3  �. : �4=L, 2018. 3 172 E. 

10. &>?>?>6, �. .. �=4?<7 >F65F>6 ?D< D5L5=<< 7444G ?> D<7<>5 : 

'G55=>5 ?>E>5<5 / �. .. &>?>?>6, �. %. �>74F<=. 3 %�5. : �4=L, 2021. 3 68 E. 

11. &>?>?>6, �. .. �=F57D<D>64=<5 ?D< D5L5=<< 7444G ?> D<7<>5 : 

'G55=>5 ?>E>5<5 4?O 6G7>6 / �. .. &>?>?>6, .. �. �7=4F>64, �. %. �>74F<=. 3 

%�5. : �4=L,  2021. 3 48 E. 

12. $5==<4=, $. %4D4>F5D D<7<G5E><E 74>>=>6 / $. $5==<4=. 3 �. : �74-6> 

ACT, 2016. 3 256 E.  
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�==>64F<>==O5 ?>4E>4O < <5F>4O > ?D5?>4464=<N GG55=>= 

4<EF<??<=O 

�D< <7GG5=<< 4<EF<??<=O «-?5<5=F4D=4O D<7<>4» D5>><5=4G5FEO 

<E?>?L7>64FL  ?D4>F<>>->D<5=F<D>64==O= ?>4E>4, >>F>DO= ?D54?>?4745F: 

>E6>5=<5 E>45D64=<O >5D47>64=<O G5D57 D5L5=<O ?D4>F<G5E><E 7444G; 

?D<>5D5F5=<5 =46O>>6 MDD5>F<6=>7> 6O?>?=5=<O D47=OE 6<4>6 

?D>D5EE<>=4?L=>= 45OF5?L=>EF<; >D<5=F4F<N =4 75=5D<D>64=<5 <45=, 

D54?<74F<N 7DG??>6OE EFG45=G5E><E ?D>5>F>6, D476<F<5 ?D54?D<=<<4F5?LE>>= 

>G?LFGDO; <E?>?L7>64=<5 ?D>F54GD, E?>E>5>6 >F5=<64=<O, D<>E<DGNM<E 

ED>D<<D>64==>EFL ?D>D5EE<>=4?L=OE >><?5F5=F<=. 

�?O >D74=<74F<< E4<>EF>OF5?L=>= D45>FO EFG45=F>6 ?> >GDEG 

=5>5E>4<<> <E?>?L7>64FL E>6D5<5==O5 F5E=>?>7<<: D47<5EF<FL 6 E5F56>< 

4>EFG?5 3 >><??5>E GG55=OE < GG55=>-<5F>4<G5E><E <4F5D<4?>6 (?D>7D4<<4, 

>>=E?5>F ?5>F<=, E?<E>> D5>><5=4G5<>= ?<F5D4FGDO < <=D>D<4F<>==OE 

D5EGDE>6, 7444=<O 6 F5EF>6>= D>D<5 4?O E4<>>>=FD>?O). 

-DD5>F<6=>EFL E4<>EF>OF5?L=>= D45>FO EFG45=F>6 F5?5E>>5D47=> 

?D>65DOFL 6 E>45 F5>GM57> < <F>7>6>7> >>=FD>?O 7=4=<= 6 D>D<5 GEF=>7> 

>?D>E4 < <=F5D4>F<6=>7> F5EF<D>64=<O ?> F5<4< >GDE4.  

 

&5<O E4<>EF>OF5?L=OE D45>F 

1. %6O7L D<7<>< E 5EF5EF6>7=4=<5<, F5E=<>>=, D<?>E>D<5=. 

2. %>6D5<5==O5 4=4?>7>6O5 < F<DD>6O5 <7<5D<F5?L=O5 ?D<5>DO. 

3. -6>?NF<O MF4?>=>6 <7<5D5=<O >E=>6=OE D<7<G5E><E 54<=<F E<EF5<O 

%�. 

4. %>4?OD=>5 < 65>F>D=>5 ?D><76545=<5 65>F>D>6 6 D<7<>5. 

5. %>EF46?5=<5 4?7>D<F<4 D5L5=<O 7444G< ?> <5E4=<>5. 

 

�5D5G5=L D5>><5=4G5<OE ED54EF6 4<47=>EF<>< 

% F5?LN 4<47=>EF<>< 7=4=<=, G<5=<= < =46O>>6 >5GG4NM<EEO ?> 

44==>= 4<EF<??<=5 D5>><5=4G5FEO <E?>?L7>64FL: 

1) GEF=O= >?D>E 6 E>45 74=OF<=; 

2) ?D>65D>G >>=E?5>F>6 ?5>F<= EFG45=F>6; 

3) F5EF<D>64=<5, 6>?NG4O >><?LNF5D=>5. 
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�D>F>>>? E>7?4E>64=<O GG55=>= ?D>7D4<<O 

 

�4764=<5 

4<EF<??<=O, E 

>>F>D>= FD55G5FEO 

E>7?4E>64=<5 

�4764=<5 

>4D54DO 

�D54?>65=<O >5 

<7<5=5=<OE 6 

E>45D64=<< GG55=>= 

?D>7D4<<O 

GGD5645=<O 6OEL57> 

>5D47>64=<O ?> 

GG55=>= 4<EF<??<=5 

$5L5=<5, ?D<=OF>5 

>4D54D>=, 

D47D45>F46L5= GG55=GN 

?D>7D4<<G (E G>474=<5< 

44FO < =><5D4 

?D>F>>>?4) 

%>7?4E>64=<O E 

4DG7<<< 4<EF<??<=4 

=5 FD55G5FEO 

 

   

 

 
   

 

 
   

 

 

 


